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SN 25

BE: A0S CAAL(SHUBY/250S)

SHol: 2S0SBA L HSSH KR (el a2
SN - EH . S(3) - MRAY - BES Ofl &k 04 e HRz2
SENEEE] 96,205 120,334 ~24,129

101 el H] 17,285 27,814 A~ 10,529
04 JIZHMIZ2XNSE =+ 17,285 27,814 210,529
O=3ta 2el(7.1 RIIME) 6,050
o QI82Y 34,9102 x 12~ 122 4,260
oEXAY 34,9102 +12 5262 908
SRS 34,9102 +1% %62 210
o=z S 4AHEER 5,167,000 x13% 672
O EIAIZ 2| 11,235
oQI2Y 34,9103 128 »228L 7,960
oFXtg 34,9102 x1H #47L 1,641
SR 34,9102 %1112 385
o=x0iis S 4AHEER 9,601,000 *13% 1,249
201 LEH2 | 78,920 77,520 1,400
01 AtS2t2iHl 24,920 24,920 0
Ogtt==H| 20,960
cAHN=E R4 RS 8,000, 000& 8,000
o JIEt=ZH] 12,960,000& 12,960
oYz 3,960, 0002 3,960
02 332234l 54,000 52,600 1,400
O3 2=2AAl 40,000,000& 40,000
(©FtiE=a:] 7,000,000& 7,000
(OZNF=E3:1EIN ]| 7,000,000& 7,000
So A K 507,000 529,000 ~22,000
301 LetE2d= 2,000 2,000 0
10 BAIAIHIR A2 2,000 2,000 0
OZQ - SX EIIX AHIE4 2,000,008 2,000
307 2120l & 487,000 509,000 A 22,000
02 fItAAE X 139,500 160,500 221,000
OL0t==28tA &2t3H] X& 2,500,000& 2,500
OAd =28 22tHdl K& 2,500,000& 2,500
OS2l BN P2ADT AAIIY JHIXE
3,000,000& 3,000
OF= g2l W3l WA N
4,000,000& 4,000
©2011 ArMBICH S24M ZHIXIE 3,000,000 3,000
OXFT=FA AXHell M&dl X& 1,500,000& 1,500
O&ME2 W &EAl2l ZHl XI& 2,000,000 2,000
ORM2=2] AtEOMl=X ZHl XI& 20,000,000& 20,000
O3 HXHY LN X 5,000,000 5,000
OCStESHM Al XI& 2,000,000& 2,000
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2A: Bat2tZ
M dEI0E TAAE (2L 2Z/250=)
el ZSM=A L Hi=CA X (9 E2
SMN-HHM .. AHA(SH) - MRAY - BES O AFH dd = Hlw &2
- 0 &= T T C == = 0:”&"% ree
Ol SAE IJIEAE S35 AHl K&
5,000,000 5,000
OMAEHLSEEH 28 ZHIX& 10,000,000 10,000
ONAl - SHZHE 20=HH & Wl Al -
=29 XA 20,000, 000& 20,000
OAMEA &FZ IHOL0I=H Nl ZHIXI&A
6,000,000& 6,000
02011E ZgREH FotZdHl A
3,000,000 3,000
O ZE M AtHHl XI& 15,000,000& 15,000
OHM36s BZe=st==H &It X
15,000,000& 15,000
OHM52g s=20l=dssH(=XEelgaal) X
bl 20,000, 000& 20,000
03 AMISIEMEZZ 97,500 98,500 A 1,000
outEZ Yot B&3 FIISHXA
4,000,000& 4,000
ottAe &3 LYHISAHAXEA 2,000,000 2,000
OAEZotR 234 XA 22,000,000 22,000
OWAelNYUEES EH & 2,000,000 2,000
Oll=&zal AMEANXNT std=Z Ol=HM XA
4,000,000& 4,000
OAMEM==E 29H XA 5,000,000 5,000
OUIR2es| MI 2810l ALHEY HANE
2,000,000 2,000
OH=gzal MIANXNE A= EIHXA
5,000,000 5,000
Oz SAEAIXE 22Hl XA
24,000,000 24,000
OS=aUSAMEAIXE "AIEAIRE B SA0H"
NE=! 8,000,000 8,000
Ost=2AM0o3 MEAIXS K& 2,000,000 2,000
O IHSUHUMNLY SAHES AMEAIXS LH
3 XI& 2,000,000 2,000
O"XsM" EI1H=F3 XA 3,000,000& 3,000
OAclsel SAE FY=3H XF 2,500,000 2,500
OtistIt+=83 AEAIXSE HEHIIQHM X
3,000,000 3,000
OsI=22883 MEAXR FH2E2 ZHIHA
3,000,000 3,000
OSI=220 83 AIRAIXNEA X
2,000,000 2,000
Ot ==YE3l AMEAXNR Zstetote K&
2,000,000 2,000
04 CIZFHALE X 250,000 250,000 0
OHN162 AE =M ZHl XA 250,000,000 250,000
308 AUXIHHMSOIA 18,000 18,000 0
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18,000,000&

18,000
18,000
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32,000

2,000

2,000

2,000,000&

2,000
2,000

2,000

307

30,000

30,000

Hal BHIX#

30,000,000

30,000

30,000

30,000

=z H

38,000

19,000
19,000

38,000

307

=z H

38,000
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19,000

38,000

02

03

20,000,000

8,000,000&

7,000,000&

3,000,000&

= M

= M

= H

= H

28,000
20,000
10,000
10,000
8,000
4,000
4,000
10,000
7,000
3,500
3,500
3,000
1,500
1,500

28,000

10,000

=M

82,240

56,343
25,897

82,240

307

=M

82,240

56,343
25,897

82,240

02
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5,240,000&
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SA: 2R
o HESHE TAAL(SFUBZ/280Z)
SOl 2SHlEBA L MEEH XY (el @2
- - MG
FAH-FH-SASA) - NRAE - BE=Z Ol &+ 9K Ofl At ot HwsZ
023t 2% X2 20,000, 00024 20,000
= 19,503
Al 497
Zyol IAS =Y 100,000 100,000 0
= 50,000
Al 50,000
307 ©I2r0IM 100,000 100,000 0
= 50,000
Al 50,000
02 SI2AHAEE 100,000 100,000 0
ORLH A X2 100,000,000% 100,000
= 50,000
Al 50,000
RO 23S N 33,650 33,650 0
= 22,000
Al 11,650
301 LBBAS 3,650 3,650 0
10 BAAHIZ A S 3,650 3,650 0
ORUBANE NAAY AARIS AHI2 A
1,200,0002 1,200
OROIII=E HEES AARIY AU
1,250,0002 1,250
OXO0IIHE SIS AR AHIE 4
1,200,0002 1,200
307 QI2H0IH 30,000 30,000 0
= 22,000
Al 8,000
02 SIAH AT 30,000 30,000 0
OFO0PI= HEES X2 10,000,0008! 10,000
= 7,000
Al 3,000
OFO0PI= 238S X2 20,000, 00084 20,000
= 15,000
Al 5,000
SHIANZHE X 31,000 49,000 18,000
p 15,500
= 7,750
Al 7,750
307 ©I2H0IH 31,000 49,000 18,000
p 15,500
< 7,750
Al 7,750
02 SI2BAEE 31,000 49,000 18,000
ORHBANE M= XA 31,000,000 31,000
p 15,500
= 7,750




SN 2B
MM MISS0E CAAS(SSAUBR/2501%)
CHPl: 2SHEBA L HIEEH XY SE L]
= PSR (2 SAIY - HA2 oH S =
N BB CR(EH) - ARAY - BES AroH Ofl At ot HlLSZ
| Al 7,750
E=230=X& 5,000 25,000
= 5,000
307 212t01& 5,000 25,000
& 5,000
04 QIHHALE X 5,000 A5,000
OAl - & ZS0ll== AL OHEl ZHI 5,000,000 5,000
L= 5,000
SN2t A2 2 A 3t 300,000 2200,000
= 150,000
Al 150,000
307 QI2t0IA 300,000 A200,000
L= 150,000
Al 150,000
04 CIZFSHALE X 300,000 A200,000
OAE NIAH Bt 300,000,000& 300,000
& 150,000
Al 150,000
Ml 23t0lsns XA &AL 20,000 0
= 10,000
& 5,000
Al 5,000
307 2I2+0|& 20,000 0
= 10,000
L= 5,000
Al 5,000
02 BltAAEX 20,000 0
ONZI2SUERS XN BRAY
20,000,000& 20,000
= 10,000
& 5,000
Al 5,000
ZIANEE XA (&) 100,000 100,000
= 100,000
401 AlEHIZL SO 100,000 100,000
= 100,000
01 Al&H| 100,000 100,000
oY Mazstat =H 100,000, 000& 100,000
= 100,000
e+ 230EEH S4 80,000 AT7,700
= 40,000
Al 40,000
307 QI2to| 80,000 AT7,700
< 40,000
Al 40,000
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BE: A0S CAAL(SHUBY/250S)
SHol: 2S0SBA L HSSH KR (el a2
SN - EH . S(3) - MRAY - BES Ofl &k 04 e HRz2
02 Qlta3aEx 80,000 157,700 AT7,700
o128 LLEH HHBH X
80,000,000& 80,000
S 40,000
Al 40,000
Ss0za2 29 542,500 500,400 42,100
= 60,000
Al 482,500
Zatil=3l2 2tel 292,500 250,400 42,100
= 60,000
Al 232,500
201 et 134,200 144,200 210,000
01 AtR2teld] 23,100 23,100 0
OgBt=2H| 11,600, 000& 11,600
O=El 6,000, 000& 6,000
ogYx= 5,500, 000& 5,500
02 BB Y| 92,100 102, 100 10,000
O3 LAA 54,600
olNM=Z0z2& A&l 4,000,000 4,000
o2z SE22L= 50,600, 000& 50,600
(©Fti=a:] 17,500,000& 17,500
(OZNF=E3:IEIN ]| 20,000,000& 20,000
03 A2 HI 19,000 19,000 0
OoZH dE= 5,000, 000& 5,000
OJ28¢d 2= MA 14,000,000& 14,000
202 O 3,000 3,000 0
01 WY 3,000 3,000 0
oA=& 0l 3,000,000& 3,000
206 X2l 300 200 100
o1 W2 300 200 100
OFAZY BFB2| U F8 L4 AHTY
00,000& 300
401 Al HI LS HHI 125,000 8,000 117,000
= 60,000
A 65,000
01 Al=H 124,460 8,000 116,460
OYTH GIHAIAY PS 59,460, 0002 59,460
S 59,460
OUSAHE Hte Lt S AL 30,000,000& 30,000
0S92 HFELT 014 0,000, 0002 10,000
0&2 228 =5 1A 25,000,002 25,000
03 A2 204Hl 540 0 540




SM: 25T
M MESS0E CAAL(SHUDZ/2502)
ool 230232 2Y (B9 &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl &F o4 il i~ o HRs2
OUE GIONAIAE 2= 60,000,0002%0.90% 540
= 540
405 RHAHE S| 30,000 95,000 65,000
01 XatUSEH S| 30,000 95,000 65,000
CEIIES= DIt 30,000,000 30,000
TZoic BE Zoty| 250,000 250,000 0
301 YA 250,000 250,000 0
10 BALAHIBAS 250,000 250,000 0
©JI22e ZHIC Ayl 250,000
SN E! 36,000,000 36,000
ogotg - BNE 179,000,00024 179,000
=B 15,000, 0002 15,000
o2 10,000, 0002 10,000
o=of 10,000, 0002 10,000
SO BE L HS(2L2Z/25HT) 2,061,518 2,306,934 A245,416
=2 715,325
= 511,126
Al 835,067
Lo BE 2,061,518 2,306,934 A245,416
= 715,325
= 511,126
Al 835,067
SRS HS X2 28,800 26,800 2,000
= 14,400
Al 14,400
307 212H0I 28,800 26,800 2,000
= 14,400
Al 14,400
02 QINAMBE 28,800 26,800 2,000
OS2 H&nS| 28,800
o REH (1IHEA 6,000,00024 6,000
= 3,000
Al 3,000
SIS 22X () 16,800, 0002 16,800
= 8,400
Al 8,400
omM4stD 2| (3HD) 6,000,00024 6,000
= 3,000
Al 3,000
SH2H 2IAH| A 2,200 2,200 0
= 2,200
307 2I2H0I 2,200 2,200 0
= 2,200
02 PIHFASBE 2,200 2,200 0
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20
B
2

ORE=23 SHEAEl K&

2,200,000&

H

2,200
2,200

= HnH

1,004,000
702,800
105,600
195,600

603,000

401,000

401 AIEHIZ 208

= H W

1,004,000
702,800
105,600
195,600

603,000

401,000

01 Al£Hl
OsEREXN EX0HE

odUel BIRUSR E+=XI8

1,000,000,000&

=Xl

il

el
4,000,000&

= H W

= N W

1,004,000

1,000,000
700,000
105,000
195,000

4,000
2,800
600
600

603,000

401,000

In
bl
0z
HO
ol
=
i
1
04
=5

=

870,000

384,750
485,250

1,451,946

A581,946

401 AlEHIZ 208

=

870,000

384,750
485,250

1,451,946

/581,946

01 Al&HI

60,000,000&

41,000,000&

25,000,000

154,000,000

290,000,000&

300,000,000

= H = H = H = H

= M

870,000

60,000
40,500
19,500
41,000
27,675
13,325
25,000
16,875

8,125

154,000

103,950
50,050

290,000

195,750
94,250

300,000

1,451,946

A581,946

= H W

20,876
12,525
4,176
4,175

20,876




SN 252
ol 2l 2E U MNS(SAUBIY/2EM)
ol 2R BE (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
101 Q1248 18, 180 0 18,180
= 10,907
= 3,637
Al 3,636
04 JARZRIIS S 18, 180 0 18, 180
OR8N sz 18, 180,000%! 18, 180
=2 10,907
= 3,637
Al 3,636
206 M=l 2,696 0 2,696
=2 1,618
= 539
Al 539
01 T2l 2,696 0 2,696
o2 sz 2,696, 0002 2,696
=2 1,618
= 539
Al 539
S5 24 2 Zl 36,442 73,588 A37,146
101 Q1248 2,79 2,640 154
04 JARZRISES 2,794 2,640 154
OSSHTAL BHIIZE oY
34,9102 %22 *152 1,048
OXYZE L JlEH Bl U2y
34,9102 %12 +502 1,746
201 Yer2g| 6,648 16,648 0
01 AtR2elt| 8,100 8, 100 0
CETTER=1 8,100, 0002 8,100
02 222 Y| 8,548 8,548 0
OBZRILHA 8,548, 0002 8,548
202 01t 4,000 4,000 0
01 =Ly 0i | 4,000 4,000 0
CRTTERITY 4,000,0002 4,000
206 M=l 400 300 100
NIEED 400 300 100
OYHSYM %M & AHFZT 2
400,000 400
401 AEHI LS 10,000 50,000 40,000
01 Al 10,000 50,000 40,000
0= 23T ot 10,000,00024 10,000
405 X+orE S| 2,600 0 2,600
01 KoL SEFH S| 2,600 0 2,600
ORFA RO 7 1,500,0002 1,500
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SN 232z
M 2o 2E U HS(STIL2B/23H)
o9 2o 2E EERE-ED)
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2
EENEELERIE 300,0002 300
otigal az9)| Y 800,000 800
Sagaa 10,000 10,000 0
401 AlEHIZ 20| 10,000 10,000 0
01 Al&H 10,000 10,000 0
OS5 HUXA 10,000,000 10,000
SHE N L e 89,200 84,400 4,800
307 QI2+0|H 89,200 84,400 4,800
02 QP A BE 89,200 84,400 4,800
O ML 25 M+t X
28,800,000 28,800
O8m =X AHUHM Ml X
8,000,000 8,000
OTAAEY =AY X 1,000,000 1,000
OYWA =&MLl X2 1,000,000 1,000
OB HER Melbl XN 1,000,000 1,000
ONZ= - AHE 12A=Y H2DS2 24 X
2l 15,800,000 15,800
OIMEBM MLDSR 29 X
15,800,000 15,800
OEXE SPHSN M52 224 X
15,800,000 15,800
OFERHSITOIMQB, M= - MFEE
o)YHBOIH X 2,000,000 2,000
DBEA S (DU AT/ 8,788,489 2,125,004 6,663,485
= 900,000
| 15,893
= 625,259
Al 7,247,337
22 omet BE 1,572,696 693,806 878,890
2 100,000
p 15,893
= 185,259
Al 1,271,544
MNEDE 28 995,024 451,294 543,730
101 o124 18, 147 17,154 993
04 JIAHBERSES 18, 147 17,154 993
OMMLYNBL - LATZOHHA 2 18,147
ool 34,9102 22 x200 13,964
oEx AL 34,9109 22 x302 2,095
o202 S AEHEE 16,059,000 *13% 2,088
201 Yere | 319,877 297,140 22,737
01 At 172,160 156,712 15,448
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2523
BTN SH(SHUBZ/BT)
Zay omet 25

SN I SRI(S) - NRAY - B sk als B RS2
0f 4 o8
otlsd BAHO 2= MA X&
1,000,000& 1,000
ozZH X WEO 20,000,000& 20,000
04 DIZHHALE X 10,000 10,000 0
Ok - A= &3 EE22 2g 10,000,000& 10,000
401 A EHIL 201 516,000 35,000 481,000
01 Al&HI 516,000 35,000 481,000
OAMEZE LED 2ZEEH &X
500,000, 000& 500,000
Og30I0IX S& &3J] =4 16,000,000& 16,000
405 XAz S| 4,000 0 4,000
01 T ESHSHI 4,000 0 4,000
OZ&3tE MEZ Jtiicet #¢ 3,000, 000& 3,000
O2ZotHA oA 2 1,000,000& 1,000
gdioi==2 2cl 119,479 139,712 A~20,233
101 el 14,079 13,862 217
04 JI2tHIZ2E2NEE S 14,079 13,862 217
Odl==% Hzt 14,079
o Q12 43,9003 x4 H +50 8,780
oFX=xg 43,900 *4H 9 1,581
oxdsd 65,8503 x4 9 2,371
o=0ldg S 4HEE=  10,361,000& «13% 1,347
201 LetEIH| 9,700 10,850 A1,150
01 AtE22/Hl 4,850 6,000 21,150
O=&l 2,450,000 2,450
odxt= 2,400,000& 2,400
03 A2 HI 4,850 4,850 0
OHEH=N At 2 3,350,000& 3,350
OHEHE=HM &Hl Xt 1,500,000& 1,500
301 YptEaazg 3,700 3,000 700
10 EALAHIEA S 3,700 3,000 700
OoggUdi==% &I 22X AHIEY
3,000,000& 3,000
OoflHEM KN SALA AHI24 700,000& 700
307 212t01& 72,000 72,000 0
04 QIHHALE X 72,000 72,000 0
O SoHHA=EXN AtEH XIS 72,000
oo HEM 60,000,000& 60,000
o HCHE 3HA 12,000,000& 12,000
401 Al&HI LS04I 20,000 40,000 A20,000
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=

o M

> 0
]

Z 3
2ELE A SH (2L 2/2E)
22 oluet &= ched A
SA - M. CHY (B HIE A HAN2 A} OH HEE =}
01 Al&HI 20,000 40,000 A 20,000
ogdiioi+= & 20,000, 000& 20,000
SO A RS XA 60,000 65,000 A5,000
401 A &EHIYL 2048 60,000 65,000 25,000
01 Al&H| 60,000 65,000 A5,000
o2&t &l 40,000, 000& 40,000
o&OHUHE &EX 20,000,000& 20,000
Fo2HZHEA B35 X2 48,193 37,800 10,393
J| 15,893
= 5,259
Al 27,041
201 LBty 4,150 0 4,150
J| 2,256
& 194
Al 1,700
01 AtER22|H] 4,150 0 4,150
o=st2doid 4,150,000& 4,150
| 2,256
& 194
Al 1,700
301 LEtEAZ 44,043 37,800 6,243
| 13,637
& 5,065
Al 25,341
12 JIEtE2 43 44,043 37,800 6,243
Oo=st&&oid 44,043,000 44,043
| 13,637
= 5,065
Al 25,341
Ol=AlZZ2HEFXIQI 200,000 0 200,000
= 100,000
= 30,000
Al 70,000
401 Al &HIZL 2048 200,000 0 200,000
= 100,000
& 30,000
Al 70,000
01 Al&H| 200,000 0 200,000
O0l=4l Bt&& 200,000,000& 200,000
& 100,000
& 30,000
Al 70,000
geUol==2FAI4 FHl 150,000 0 150,000
= 150,000
401 AlEHIZ 2 Y] 150,000 0 150,000




2A: S22
M AN SH(SSY /22
el 2 olmet B CEREED
_ _ _ AT
2N -3 - c2(3H) - NEME - HES 0] AFCH lOﬁ/l\_Fo” Hns
= 150,000
01 Al&H| 150,000 0 150,000
oddtidis+==& HoAlE HH|
150,000, 000& 150,000
< 150,000
=l =y N I =1s 6,915,793 1,431,198 5,484,595
= 800,000
= 440,000
Al 5,675,793
ZZAIEZ2 22| 105,793 91,198 14,595
101 Q1A H| 13,593 13,198 395
04 JIZtMI22 s 13,593 13,198 395
oZZAEZ 22l 13,593
o0l 43,9003 x2H 120 10,536
S N E= 43,9003 x2F =17 1,493
o303 S 4UBE= 12,029, 0003 *13% 1,564
201 dEt24| 38,200 25,000 13,200
02 S=294| 38,200 25,000 13,200
O A& & HIS XY 38,200,000& 38,200
202 04 bl 4,000 3,000 1,000
01 =20l 4,000 3,000 1,000
O&2=&0 | 4,000,000& 4,000
401 Al&HI L2y 50,000 50,000 0
01 Al&H| 50,000 50,000 0
OAALZ 2ZANEE B4 & FH|
50,000,000 50,000
MAITIHUSHE =XE &3 2,540,000 1,000,000 1,540,000
= 800,000
& 240,000
Al 1,500,000
401 AlEHIZLL20H] 2,540,000 1,000,000 1,540,000
= 800,000
= 240,000
Al 1,500,000
01 Al&HI 2,530,856 993,700 1,537,156
OMFZULNSA =IE X
2,530,856,000& 2,530,856
s 797,120
& 239,136
Al 1,494,600
03 Al&20HYI 9,144 6,300 2,844
OMFZUHUNSHE =XE =&
2,540,000,000& *0.36% 9,144
& 2,880




SN 23T
Mo BBCA SH(SHYB /D)
Sl RSB MY (e
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 Ofl &F o8 il i~ o HRs2
< 864
Al 5,400
ML CHYLRATH 600,000 0 600,000
= 200,000
Al 400,000
401 AISHIL L] 600,000 0 600,000
= 200,000
Al 400,000
01 Al 597,840 0 597,840
OSE4+2 HAMEST X& 297,840,000 297,840
= 198,560
Al 99,280
ORE42 YU T4 EX MY
300,000,000 300,000
03 Al&=CHHl 2,160 0 2,160
ORECHT BIMEE =4
300,000, 00021 %0. 72% 2,160
= 1,440
Al 720
MET T BBDY L 50,000 200,000 ~150,000
401 AISHIL L] 50,000 200,000 A 150,000
01 Al 50,000 198,560 148,560
MET R T BRI SIAMY BHEH
ZA B 50,000,0002 50,000
AREHRIY FA4RHER 1,000,000 0 1,000,000
401 AEHIL2 ] 1,000,000 0 1,000,000
01 Al 993,700 0 993,700
OMFIHDNBR +420 &X|
993,700,00024 993,700
03 Al&SCHHl 6,300 0 6,300
OMFIHDNBR +420 &X|
1,000,000,000 *0. 63% 6,300
WIS ERNE EA 20,000 0 20,000
401 AEHILR ] 20,000 0 20,000
01 Al&Hl 20,000 0 20,000
SP0S FXNE TN Y IISYY &3
20,000,0002 20,000
2AL~EY H 012 X 2,600,000 0 2,600,000
401 AIEHILL ] 2,600,000 0 2,600,000
01 Al&l 2,600,000 0 2,600,000
O2AL~Z A2 HO0IZI LAY B
2,600,000, 0002 2,600,000
oo R R U E XA 300,000 0 300,000
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24 2sEE

HE: APCA S (SHUDT /)

ool LR BHETY (el @R
SA-E . S(E) - MEAY - BES 0 & 24 e HIRE
S8 S 3 s AL 300,000 0 300,000

401 Al&HI LS OHYI 300,000 300,000
01 Al&H| 300,000 300,000
OdZleld ZR/SAIS (EXIOHY)
300,000,000 300,000
BHSAAY (S22 OIEHIIEH 157,720 3.085
I 2 77,320 685
el 23| 77,320 685
101 el 24| 77,320 685
03 RIIAHAZZ X2 77,320 685
oY Ma=zsa 2el(1g) 14,259
=Jl=2 34,9103 » 18 »249 8,693
cal= 8,693,000& x4/ 12 2,898
oRsSrgdsd 34,9103 x1H +52& 1,816
o AL 2R 6,550 «1H «50Al 2t 328
SN ES 34,9103 x1H »15¢ 524
OHd&ZR Zel(1g) 18,986
=Jl=2 43,900% »1H 240 10,932
o= 10,932,000 *4/12 3,644
St =) 10,932,000 *10% 1,094
ocRsRYsE 43,9003 x1H »52 2,283
VB EERS= 8, 24021 % 124 *40AI 2 330
oA=& 43,9003 «1Z x 16 703
ORU=ZA (1Y) 19,620
ollEgs 45,7403 »1H #2409 11,390
ooz 11,390,000 *4/12 3,797
S =] 11,390, 000:& *10% 1,139
oRsRYsE 45,7403 «1Z «52 2,379
oAt 45,7403 «1Z +20 915
oSsIEs T BAZE (1) 17,518
oJlE2s 43,900 »1H #2490 10,932
ooz 10,932,000 *4/12 3,644
oRsRYsE 43,9003 x1H #52 2,283
o ARt 43,9003 «1Z x15¢ 659
OAE23HA Zel(1Y, 7.188H) 6,937
oJllEgs 34,9103 »1H *125¢ 4,364
o= 4,364,000 *2/6 1,455
ocRsRYsE 34,9103 x1H »26L 908
o 34,9103 x1Z »6L 210
=34l 80,400 2,400
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PN 23221
B
o T

(=)
el Jl=

M-S (3) - HRAY - BES Aro e =2
=234l 80,400 78,000 2,400
201 Let2d| 9,000 9,000 0
01 AFR 22| 9,000 9,000 0
oget=Zl 7,000,000& 7,000
O=&H| 2,000,000& 2,000
202 O4H| 67,200 64,800 2,400
01 =W 67,200 64,800 2,400
OZUEENYI 200,000 *28Y 123 67,200
203 HRF&Hl 4,200 4,200 0
04 BASSIHRFEHI 4,200 4,200 0
ORNMEZE gRF&I 350,000& = 12& 4,200
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